HD Perfect Autowork Pte Ltd

Company Reg No: 202136904Z

8 Kaki Bukit Ave 4, #08-09 Premier@Kaki Bukit Singapore 415875

Tel: 6341 6789 Fax: 6341 6778

E-mail: hdperfectautowork@gmail.com



DATE: 14.10.22

RN6/055504.

Xias Tony

TO

: AIG MOTOR CLAIMS DEPTS

VEHICLE NO

: SJQ1035K

MODEL

: HONDA STREAM

DATE OF ACCIDENT

: 14.10.22

TIME OF ACCIDENT

: 08:05HRS

WE APPEND HEREUNDER THE ESTIMATED COST OF REPAIRS TO BE CARRIED OUT TO THE ABOVE VEHICLE.

CLAIM DETAIL : PARTS

S/N	DESCRIPTION	QTY	 NIT LIST PRICE	TOTAL LIST PRICE		
1	BONNET Device	1	\$ 638.90	\$	638.90	
2	BONNET HINGE Bent	2	\$ 69.00	\$	138.00	
3	BONNET LOCK Rod	1	\$ 85.10	\$	85.10	
4	BONNET LOCK COVER GARNISH	1	\$ 48.60	\$	48.60	
5	BONNET LOCK CABLE Nen	1	\$ 125.30	\$	125.30	
6	BONNET INSULATOR NEW	1	\$ 97.80	\$	97.80	
7	BONNET STOPPER Mr	2	\$ 24.00	\$	48.00	
8	BONNET RUBBER at	1	\$ 98.40	\$	98.40	
9	FRONT FENDER Lit Bueble d	2	\$ 935.40	\$	1,870.80	
10	FRONT FENDER TOP INNER GARNISH Rehad LH	2	\$ 157.70	\$	315.40	
11	FRONT FENDER INNER COWLING HE W	2	\$ 79.50	\$	159.00	
12	FRONT BUMPER Pristoted	1	\$ 639.60	\$	639.60	
13	FRONT BUMPER FOGLAMP Could	2	\$ 243.10	\$	486.20	
14	FRONT BUMPER FOGLAMP COVER **C.	2	\$ 47.90	\$	95.80	
15	FRONT BUMPER REINFORCEMENT Deut d	1	\$ 318.90	\$	318.90	
16	FRONT BUMPER LOWER GRILLE WE W	1	\$ 87.10	\$	87.10	
17	FRONT BUMPER SIDE RETAINER #	2	\$ 34.20	\$	68.40	
18	CENTRE GRILLE Crube	1	\$ 196.80	\$	196.80	
19	CENTRE GRILLE CHROME at	1	\$ 210.30	\$	210.30	
20	CENTRE GRILLE LOGO Nu	1	\$ 42.60	\$	42.60	
21	HEADLAMP Culled	2	\$ 680.00	\$	1,360.00	
22	HEADLAMP LOWER BRACKET TH CILL	2	\$ 39.50	\$	79.00	

: AIG MOTOR CLAIMS DEPTS

VEHICLE NO

: SJQ1035K

MODEL

: HONDA STREAM

DATE OF ACCIDENT

: 14.10.22

TIME OF ACCIDENT

: 08:05HRS

27				_			- 4	
	23	FRONT SUPPORT PANEL TOP GARNISH Deld	1	\$	94.60	\$ 94.60		
	24	FRONT SUPPORT PANEL Buckerd.	1	\$	546.20	\$ 546.20	1	
	25	ENGINE UNDER COVER GARNISH × ~	1	\$	254.30	\$ 254.30	+	
	26	RADIATOR Could	1	\$	1,367.50	\$ 1,367.50		
	27	RADIATOR BRACKET But	2	\$	45.00	\$ 90.00		
	28	RADIATOR TOP BRACKET MOUNTING ***	2	\$	19.00	\$ 38.00		
	29	RADIATOR FAN BLADE Mu	1	\$	198.80	\$ 198.80	2 28	o.
	30	RADIATOR FAN MOTOR	1	\$	476.90	\$ 476,90	20 11	8
	31	RADIATOR FAN COWLING Could	1	\$	217.60	\$ 217.60		
	32	RADIATOR SPARE TANK Au u	1	\$	246.90	\$ 246.90	t	
	33	RADIATOR HOSE	2	\$	85.00	\$ 170.00	t	
	34	AIRCON CONDENSOR Devel	1	\$	826.60	\$ 826.60		
	35	AIRCON CONDENSOR TOP BRACKET	2	\$	22.80	\$ 45.60		
	36	AIRCON GARNISH WITH COWLING	1	\$	194.30	\$ 194.30	1	
	37	AIRCON CONDENSOR TOP BRACKET MOUNTING M	4	\$	19.00	\$ 76.00		
	38	AIRCON COMPRESSOR PRESSURE HOSE	1	\$	356.00	\$ 356.00	*	
	39	AIRCON COMPRESSOR SUCTION	1	\$	328.00	\$ 328.00	+	
	40	RESORNATOR BOX 7	1	\$	278.90	\$ 278.90	+	
	41	RESORNATOR DUCT	1	\$	88.40	\$ 88.40	1	
	42	MANIFOLD 02 SENSOR	1	\$	468.00	\$ 468.00	+	
	43	MANIFOLD COVER	1	\$	137.00	\$ 137.00	1	
	44	HORN	2	\$	76.20	\$ 152.40	* _	
	45	TAILGATE Distarled	1	\$	903.20	\$ 903.20		
	46	TAILGATE LOGO &	1	\$	41.90	\$ 41.90		
	47	TAILGATE EMBLEM 'STREAM'	1	\$	31.60	\$ 31.60		
	48	TAILGATE NUMBER PLATE LAMP	2	\$	86.00	\$ 172.00	+	
	49	TAILGATE OUTER GARNISH	1	\$	184.30	\$ 184.30		
	50	TAILGATE OUTER HANDLE	1	\$	84.20	\$ 84.20	+.	
	51	TAILGATE EMBLAM 'RSZ'	1	\$	98.50	\$ 98.50		
	52	TAILGATE INNER LOCK Dand	1	\$	109.80	\$ 109.80		
	53	TAILGATE WEATHER STRIP Cut	1	\$	171.60	\$ 171.60		
	54	TAILGATE STOPPER Mn	2	\$	24.00	\$ 48.00	+	
	55	TAILGATE INNER HANDLE MISSING	1	\$	29.00	\$ 29.00		
	56	TAILGATE INNER BOARD Could	1	\$	296.70	\$ 296.70		

: AIG MOTOR CLAIMS DEPTS

VEHICLE NO

: SJQ1035K

MODEL

: HONDA STREAM

DATE OF ACCIDENT

: 14.10.22

TIME OF ACCIDENT

: 08:05HRS

	A 4 A			1
57	TAILGATE DAMPER All Mu	2	\$ 150.10	\$ 300.20
58	TAILGATE WINDSCREEN MOULDING Nu	1	\$ 164.30	\$ 164.30
59	TAILLAMP LH could, RH ext	2	\$ 357.50	\$ 715.00
60	TAILLAMP BOLT COVER New	4	\$ 12.70	\$ 50.80
61	REAR BUMPER Prostorted	1	\$ 688.90	\$ 688.90
62	REAR BUMPER CENTER BRACKET Best	2	\$ 65.00	\$ 130.00
63	REAR BUMPER TOW HOOK COVER	1	\$ 19.20	\$ 19.20
64	REAR BUMPER SIDE RETAINER M	2	\$ 29.40	\$ 58.80
65	REAR FENDER INNER TRIM	2	\$ 297.00	\$ 594.00
66	REAR END PANEL PISTOL	1	\$ 459	\$ 459
67	REAR END PANEL TOP GARNISH	1	\$ 116.70	\$ 116.70
68	REAR END PANEL BOTTOM (CENTRE) DEAL	1	\$ 325	\$ 325,
69	REAR FLOOR PANEL Briefeed	1	\$ 597.00	\$ 597.00
70	REAR FLOOR MAT NEW	1	\$ 394.70	\$ 394.70
71	REAR FLOOR PANEL COVER BOARD De Ld	2	\$ 126.50	\$ 253.00
72	REAR FLOOR PANEL COVER BOARD (INNER SUPPORT)	-d ₁	\$ 697.60	\$ 697.60
73		1	\$ 196.40	\$ 196.40
74	REAR JACK COVER GARNISH Deld	1	\$ 185.00	\$ 185.00
75	REAR CHASSIS MEMBER RH	1	\$ 1,426.80	\$ 1,426.80
76	REAR SPARE TYRE BRACKET But	1	\$ 121.60	\$ 121.60 0 4
77	REAR SPARE TYRE HOLDER	1	\$ 171.80	\$ 171.80
78	CENTER EXHAUST INSULATOR M	1	\$ 69.20	\$ 69.20
79	The second secon	1	\$ 60.00	\$ 60.00
80		1	\$ 694.80	\$ 694.80
81		1	\$ 709.50	\$ 709.50
	REAR EXHAUST MOUNTING Me no	4	\$ 29.20	\$ 116.80
	REAR EXHAUST INSULATOR MU	1	\$ 89.10	\$ 89.10
	REAR EXHAUST GASKET ~~	1	\$ 60.00	\$ 60.00 45

16336.60

TOTAL PRICE LESS 20%

25,208.70 5,041.74

\$16,333.80

SUB TOTAL PRICE

20,166.96

S/N	DESCRIPTION		QTY	UNIT S/NETT		TOTAL S/NETT	
1	FRONT NUMBER PLATE (SPECIAL TYPE)	amld	1	\$	180.00	\$	180.00

: AIG MOTOR CLAIMS DEPTS

VEHICLE NO

: SJQ1035K

MODEL

: HONDA STREAM

DATE OF ACCIDENT

: 14.10.22

TIME OF ACCIDENT

: 08:05HRS

2	FRONT BUMPER CLIPS (SET)	1	\$ 50.00	\$ 50,00 30
3	BONNET INSULATOR CLIPS (SET) Men	1	\$ 50.00	\$ 50.00
4	CENTRE GRILLE CLIPS (SET)	1	\$ 30.00	\$ 30.00 10
5	FRONT FENDER TOP INNER GARNISH CLIP (SET)	1	\$ 40.00	\$ 40.00 - 10
6	FRONT FEENDER COWLING CLIPS (SET)	1	\$ 50.00	\$ 50.00 H
7	FRONT SUPPORT PANEL TOP GARNISH CLIP (SET)	1	\$ 50.00	\$ 50.00 -20
8	FRONT SUPPORT PANEL SEALANT	1	\$ 80.00	\$ 80.00
9	RADIATOR COOLANT New	1	\$ 60.00	\$ 60.00 45
10	REAR NUMBER PLATE (SPECIAL TYPE)	1	\$ 180.00	\$ 180.00
	REAR BUMPER CLIPS (SET)	1	\$ 50.00	\$ 50.00 30
12	TAILGATE SEALANT WAR M	1	\$ 150.00	\$ 150.00
13	TAILGATE OUTER GARNISH CLIP (SET)	1	\$ 40.00	\$ 40.00
14	TAILGATE INNER BOARD CLIP (SET)	1	\$ 50.00	\$ 50.00 33
15	TAILGATE WINDSCREEN SEALANT Zalen	1	\$ 80.00	\$ 80.00 43
16	TAILGATE WINDSCREEN INNER SEAL	1	\$ 60.00	\$ 60.00 30
17	TAILGATE SOUND PROOF (SPECIAL TYPE)	1	\$ 450.00	\$ 450.00 60
18	TAILGATE SPEAKER (SET)	1	\$ 300.00	\$ 300.00
19	TAILLAMP CLIP (SET)	1	\$ 40.00	\$ 40.00 20
20	REAR FENDER INNER TRIM CLIPS(SET)	1	\$ 50.00	\$ 50.00
21	REAR END PANEL TOP GARNISH CLIPS	1	\$ 30.00	\$ 30.00
22	REAR END PANEL INSULATION SEAL K	1	\$ 150.00	\$ 150.00
23	REAR FLOOR PANEL INSULATION SEAL	1	\$ 350.00	\$ 350.00 185 40
24	REAR FLOOR PANEL SOUND PROOF (INNER) (SPECIAL TYPE)	1	\$ 350.00	\$ 350.00
	REAR FLOOR PANEL SOUND PROOF (OUTER) (SPECIAL TYPE)	1	\$ 350.00	\$ 350.00 200
26	JACK Nen	1	\$ 150.00	\$ 150.00
27	REAR JACK COVER GARNISH CLIP (SET)	1	\$ 30.00	\$ 30.00 / 0
28	SPARE TYRE Men	1	\$ 350.00	\$ 350.00
29	SPARE TYRE RIM ONE M	1	\$ 150.00	\$ 150.00
30	REVERSE SENSOR Dod	1	\$ 220.00	\$ 220.00 20
31	REVSERSE CAMERA He m	1	\$ 450.00	\$ 450.00

CLAIM DETAILS: LABOUR AND SPRAY PAINTING (FRONT)

PRICE	ADJUSTED COST
	PRICE

TOTAL

4,620.00

: AIG MOTOR CLAIMS DEPTS

VEHICLE NO

: SJQ1035K

MODEL

: HONDA STREAM

DATE OF ACCIDENT

: 14.10.22

TIME OF ACCIDENT : 08:05HRS

1	TO PANEL BEAT, REMOVE AND REPLACE PARTS	\$ 1,800.00	1000
2	TO SPRAY PAINT AFFECTED AREA	\$ 1,400.00	qw.
3	REFOCUS HEADLAMP BEAM	\$ 60.00	* 3.9
4	REMOVE AND REFIX AIRCON CONDENSOR AND REFILL GAS	\$ 120.00	60
5	REMOVE AND REFIX RADIATOR AND CONDUCT PRESSURE TEST	\$ 80,00	60

2050

CLAIM DETAILS: LABOUR AND SPRAY PAINTING (REAR)

S/N	JOB DESCRIPTION	PRICE	ADJUSTED COST
1	TO PANEL BEAT, REMOVE AND REPLACE PARTS	\$ 2,200.00	140)
2	TO SPRAY PAINT AFFECTED AREA	\$ 1,600.00	11.00
3	TUFF COAT	\$ 250,00	1 100
4	WIRING AND BULB CHECK	\$ 180.00	37
5	REMOVE AND REFIX CUSHION SEAT/UPHOLSTRY & ROOF LINING TO FACILIATE REPAIR	\$ 350.00	- 8-2
6	REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING	\$ 80,00	52
7	REAR CHASSIS ALIGNMENT	\$ 250.00	X.
8	TRANSFER TAILGATE MECHANISM	\$ 80.00	/
9	REMOVE AND REFIX TAILGATE WINDSCREEN	\$ 120.00	/
10	REMOVE AND REFIX TAILGATE SPOILER	\$ 100.00	X-
11	CONDUCT WATER LEAKAGE TEST	\$ 120.00	X
12	REMOVE AND REFIX REAR EXHAUST	\$ 180.00	80

: AIG MOTOR CLAIMS DEPTS

VEHICLE NO

: SJQ1035K

MODEL

: HONDA STREAM

DATE OF ACCIDENT

: 14.10.22

TIME OF ACCIDENT

: 08:05HRS

13	REMOVE AND REF FACILIATE FENDER			\$ 80.00	X		
14	TO CHECK DIAGNO MANAGEMENT/COI MEMORIES TO SPI	NTROL	UNITS, RESET	\$ 180.00	8		
		то	TAL	\$ 9,230.00		Adria C	
ESΠ	MATE REPORT					L/S 14/10/22.	
TOTA	AL PARTS COST	:	\$24,786.96			1 1	
TOTA	AL LABOUR COST	:	\$9,230.00			150000	
	AL REPAIR COST		\$34,016.96			13 tays	1

NB: THIS IS ONLY AN ESTIMATE AND SHOULD ADDITIONAL WORK BE FOUND NECESSARY TO BE CARRIED OUT IN THE COURSE OF REPAIRS, EXTRA MATERIALS AND LABOUR COST WILL BE CHARGED ACCORDINGLY WHICH HOWEVER, YOU WILL BE INFORMED PRIOR TO ACTION TAKEN.

PARTS PRICES ARE SUBJECT TO CHANGES.

YOURS FAITHFULLY,

IREME

SERVICE ADVISOR **IRENE**

HP: 8297 9787

LKK Auto Consultants hence notify

the Repairer of the following:

- To resurvey before/after spray painting To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

total: 19629.28 HS: 15.31C

15.3K.